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Level 2 Biology 2024
91157 Demonstrate understanding of genetic variation  

and change

Credits: Four

Achievement Achievement with Merit Achievement with Excellence
Demonstrate understanding of genetic 
variation and change.

Demonstrate in-depth understanding of 
genetic variation and change.

Demonstrate comprehensive 
understanding of genetic variation and 
change.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the 
top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2–16 in the correct order and that none of these pages is blank.

Do not write in the margins ( ). This area will be cut off when the booklet is marked.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

SUPERVISOR’S USE ONLY

Draw a cross through the box ( )  
if you have NOT written in this booklet

+

No part of the candidate’s evidence in this exemplar material 
may be presented in an external assessment for the purpose 

of gaining an NZQA qualification or award.
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Excellence 

Subject:  Biology 

Standard:  91157 

Total score: 19 

Q 
Grade 
score 

Marker commentary 

One M5 

The response accurately identifies the sex chromosome genotype for a female 
cat, and explains how the presence of two different alleles, F and f, lead to 
tortoise-shell fur colour. The Punnett square has been completed correctly 
and describes the phenotype ratio. 

Two E7 

The response effectively uses the context of the takahē provided in the 
question to discuss the effects of genetic drift and the founder effect on 
genetic variation. It successfully creates links between the two processes, 
discussing their implications on the takahē population as the different 
mechanisms of change impact the population over many years. 

Three E7 

This response uses the concepts of dominant and recessive alleles to explain 
how a dominant lethal allele can persist in a population, contrasting it with 
the more common occurrence of recessive lethal alleles. The inclusion of 
Huntington's disease as an example demonstrates a comprehensive 

understanding of these concepts. 
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